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Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-I (CtoD) « EXAMINATION - WINTER « 2014

Subject Code: C310702
Subject Name: Fundamental of Digital Electronics

Time: 10:30 am - 12:00 pm
Instructions:

Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.

Date: 24-12-2014

Total Marks: 70

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

No.

Question Text and Option

What Radix of binary number system?

1. |A |0 B. |1
C. |2 D. |[A&B
Any number with an exponent of zero is equal to:
2. |A |1 B. |0
C. |10 D |2
What are the symbols used to represent digits in the binary number system?
3. |A |01 B. [Oto7
C. |12 D. /10123
A full adder circuit requires
4. | A. | 2input and 2 output B. | 2 input and 3 output
C. | 3input and 3 output D. | 3input and 2 output
In positive logic,
5 | A | HIGH=1,LOW=0 B. | HIGH=0,LOW=1
C. | Only High Present D. | Only Low Present
Give the decimal value of binary 10010.
6. |A |6 B. |9
C. |18 D. |20
Convert the fractional binary number 0000.1010 to decimal.
7. | A, |0.625 B. 1050
C. 1055 D. |0.10
How many unique symbols are used in the decimal number system?
8. |A |1 B. |8
C. |19 D. |10
Convert hexadecimal value (16)16 to decimal.
9. |A |22 B. |10
C. |16 D. |20
One hex digit is sometimes referred to as
10. | A. | Byte B. | Nibble
C. | Grouping D. | Instruction
Which is typically the longest: bit, byte, nibble, word?
11. | A. | Bit B. | Byte
C. | Nibble D. | Word
Convert decimal to binary: (32)10
12. | A. | 100010 B. | 100000
C. |100011 D. | 100001
Convert hexadecimal to binary: (C)1s
13. | A. | 1100 B. | 1000
C. | 1010 D. |1101
14. | Convert octal number to decimal: (17)s
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A. |51 B. |82
C. |57 D. |15
How many binary digits are required to count to (100)10?
15. A |7 B. |2
C. |3 D. | 100
What is the BCD number for decimal (347)0?
16. | A. | 1100 1011 1000 B. | 001101000111
C. | 00110100 0001 D. | 110010110110
What is the binary number of (46)s octal number?
17. | A. | 100010 B. | 100110
C. |110101 D. | 100100
Identify the type of gate below from the equation Y=AB.
18. | A. | AND Gate B. | OR Gate
C. | NOR Gate D. | NAND Gate
Identify the type of gate below from the equation Y=A+B.
19. | A. | AND Gate B. | OR Gate
C. | NOR Gate D. | NAND Gate
Which type of gate can be used to add two bits?
20. | A. | Ex-OR B. | EX-NOR
C. |OR D. | NOR
The EX-NOR is sometimes called the .
21. | A. | parity gate B. | equality gate
C. | inverted OR D. |A&B
A logic circuit that provides a HIGH output for both inputs HIGH or both inputs LOW
[
22. A. |OR B. | NOT
C. | ExX-NOR D. | NAND
The output of an AND gate with three inputs, A, B, and C, is HIGH when
23. |A. |A=1,B=1,C=0 B. |A=1,B=0,C=1
C. |A=0,B=0,C=0 D. |A=1,B=1C=1
The output of an OR gate with three inputs, A, B, and C, is LOW when
24. |A. |A=1,B=1C=1 B. |A=0,B=1,C=1
C. |A=0,B=1,C=0 D. |A=0,B=0,C=0
Output will be a LOW for any case when one or more inputs are zero for
25. | A. | NOR B. |OR
C. | NOT D. | AND
What is operating voltage of TTL?
26. | A. |2V B. |5V
C. |9V D. |12V
When output of NOR gate is High?
27. | A. | all inputs are LOW B. | any inputis LOW
C. [allinputs are HIGH D. |any inputis HIGH
How many input combinations would a truth table have for a 3-input AND gate?
28. | A. |3 B. |8
C. |12 D. |16
What is Boolean expression of NOR gate?
29. | A. | A+B B. | A*B
C. | (A+B)’ D. | (A*B)
What is the output of three input OR gate when A=0, B=1, C=1?
30. |A |0 B. |01
C. |1 D. |10
How many entries would a truth table for a four-input NAND gates have?
31. |A. |4 B. |8
C. |12 D. |16
32. | What is output of NAND gate if A=0 and B=0?
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A |0 B. |1
C. |01 D. |10
If a 2-input NOR gate has four input possibilities, how many of those possibilities will
33 result in a HIGH output?
"IA |0 B. |1
C. |2 D. |3
What is the output of Ex-NOR when A=0 and B=0?

4. |A |11 B. |0
C. |1 D. |10
A 2-input NOR gate is equivalent to a .

35. | A. | negative-OR gate B. | negative-NAND gate
C. | negative-AND gate D. | none of the above
The basic logic gate whose output is the complement of the input is the:

36. | A. |OR B. | NOT
C. | AND D. | EX-NOR
What the sum of 11101 + 10111?

37. | A. | 110011 B. | 100001
C. | 110100 D. | 100100
What is the sum of the two BCD numbers, 0011 + 0011?

38. | A. | 0110 B. | 0111
C. | 0011 D. | 1100
Convert into hexadecimal 1100101000110101?

39. | A. | 121035 B. | CA35
C. | 53CAl D. | 3510CA
Which is the (35);0 decimal number to binary?

40. A" [ 10010 B. [10011
C. |100011 D. | 100010
What is the BCD of decimal (11)y0 ?

41. | A. | 00000001 B. | 00010000
C. | 00000011 D. | 00010001
A small circle on the output of a logic gate is used to represent the:

42. | A. | AND operation B. | NOT operation
C. | Comparator operation D. | OR operation
Which of the examples below expresses the distributive law?

43. |A. |(A+B)+C=A+(B+0C) B. |A+(B+C)=AB+AC
C. |AB+C)=AB+AC D. | ABBC)=(AB)+C
Which of the examples below expresses the associative law of addition:

4. |A. |A+(B+C)=(A+B)+C B. |[A+(B+C)=A+(BC)
C. |A+(BC)=(AB)+C D. |ABC=A+B+C
Which most commonly system used for representing signed binary numbers?

45. | A. | 1’ compliment B. | 2’ compliment
C. | 9’ compliment D. | 10’ compliment

Major difference between Half Adder and Full

Adder is:

A. | Full Adder is made up of 2 Half | B. | Full adders can handle double-digit
46. Adder numbers
C. | Half adders can handle only D. | Full adders have a carry input
single-digit numbers capability
1111 -1100 perform binary operation
47. |A. |1 B. |11
C. |10 D. | 100
Find 1’compliment of 10110017
48. | A. | 1011000 B. | 0100110
C. | 1000111 D. | 0100111
49. | Give binary subtraction of 0-1is
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A. | Difference=1, Borrow=1 B. | Difference=0, Borrow=0
C. | Difference=0, Borrow=1 D. | Difference=1, Borrow=0
Give binary addition of 1+1+1 is

50. | A. | Sum=0, Carry=0 B. | Sum=0, Carry=1
C. | Sum=1, Carry=0 D. | Sum=1, Carry=1
The number of control line in 8 to 1 multiplexer is

51. |A. |1 B. |2
C. |3 D. |4
Give the 2’ compliment of the 1001.

52. | A. |1000 B. | 0110
C. | 1111 D. | 0111
The device which changes from serial data to parallel data is

53. | A. | Multiplexer B. | Demultiplexer
C. | Counter D. | Flip-flop
A device which converts BCD to Seven Segment is called

54. | A. | Encoder B. | Multiplexer
C. | Decoder D. | Demultiplexer
Which of following are known as universal gates

55. | A. | AND &OR B. | NAND & NOR
C. | EX-OR & Ex-NOR D. | NOT & AND
The number of control line in 1 to 16 demultiplexer is

56. |A. |1 B. |2
C. |3 D. |4
A binary equivalent of hexadecimal number (FF)1g is

57. | A. | 11111111 B. | 11110000
C. | 11110001 D. | 11001100
Which term is Sum of Product?

58. | A. | AB+BC B. | (B+C)(C+A)
C. | (A+B)AB D. | None of these
The decimal number of BCD code 10011001

59. | A. |15 B. |20
C. 199 D. |90
The number of bits in nibble

60. |A. |1 B. |2
C. |3 D. |4
Which term is Product of Sum?

61. | A. | XY+YZ B. | (X+Y)(Y+2)
C. | X(Y2) D. | X(Y+2)+X
Convert the BCD 0001 0000 in binary.

62. | A. | 1010 B. | 1000
C. | 1110 D. | 1100
The number of digit in hexadecimal number system is

63. |A. |2 B. |8
C. |16 D. |32
Convert (85)0 in to Binary Coded Decimal

64. | A. | 10000001 B. | 10000101
C. | 01011000 D. | 00011000
De-Morgan’s first theorem shows the equivalence of

65 A. | NOR gate and Bubbled AND B. | OR gate and Exclusive OR gate.
' gate
C. | NOR gate and NAND gate. D. | NAND gate and NOT gate
Add Hexadecimal number (14)16+(18)16
66. | A. | (25)16 B. | (CC)s
C. | (2A)16 D. | (2C)
67. | Multiply two binary number (1010), *(11),
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A. [11110 B. [11011
C. | 10001 D. |10101
When 11110 is divided by 101, what is the decimal remainder?
68. |A |1 B. [2
C. |3 D. |0
Subtract the hexadecimal number (FA)16-(2F)16
69. | A. | (CB)ss B. [(CC)s
C. | (BB)s D. | (CD)s
Which is following invalid BCD code?
70. | A. ] 1000 B. [1001
C. 1011 D. | 0001
sl
ol | ust Aues [Ascu
wl2Aet3] ol AdsU 9 B?
1. [A 70 B. |1
C. |2 D. |[A&B
Sl8Uat oloiR all Uld 0 8l dl:
2. A 1 B. |0
C. |10 D. |2
wldetd] otoir e 1 (B2 ealal W sl el ol GuloL Ut 82
C. |12 C. 01,23
$et ASR U(3e ML 4
4. | A | 2 Betye ual 2 wBaye 2 Bolye wal 3 MBaYe
C. |3 8olye ua 3 vuBaye C. |3 detye ual 2 2B2Yye
WDRa AAls Ht:
5. |A. |88 =1,A =0 B. |88 =0, =1
C. | ol %l 88 D. |aul ot @l
wldetd] otoi? oll SRUA otol2 2 10010
6. |A. |© B. |9
c. |18 D. |20
solcle $5Uot olllot3] o10i? oll SRHA 16l $2A : 0000.1010
c | 055 D, |0.10
SRAMA ook e 1L [Bye eaual W2 3ecl Al Qe ol Gurllal
aAlA 8?
8. A |1 B. |8
c. |9 p. |10
9. | 3sUIRAHA ool Wl IRAHA ool 5: (16)6
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A |22 5 |10

c. |16 D. |20

85 5 (32 5l8sclR L N GUAoL AU B?
10. |A. | cuse B. | [[loud

c. |oyot D. | 8olRg5Uet

wHL Al 9 Al sl B: olle, ouse, [RAoud , ad
11. |A. | olle B. |2

C. |[lonuc D. |d$

SAMA ook Ml oltatetd] otolR HL HeAl: (32),,

12. | a. [ 100010 5. | 100000

c. | 100011 D. | 100001

3SUBRUA ool 1l wuetdl otoir ML deAL: (C.),
13. | A [ 1100 5 | 1100

c. | 1010 D. | 1010

Ulsed ool 1l SAHA otoir ML HEAL (17),
14. |A. |91 B. |82

c |57 D. |15

(100),, Gullall H2 32l eaaetdl (e ofl %32 ud B2
15. |A. |7 B. |2

c. |3 p. | 100

SRHA alolR (347),, oll BCD ol6i? 50 8?2

1100 1011 1000

16. | A. 5. | 001101000111
c. | 00110100 0001 D. | 11001011 0110
(46), Bls2A ol0iR oll sl ool KA B?
17. | o, | 100010 5. | 100110
c. | 110101 D. | 100100
U B5AAet sl A2 of B A 58l: Y=AB
18. Aos Ay B. [R Aye
C. | ollRk d&e D. |ole &2
U B5AAct KUl AB2 of B A 58l: Y=A+B
19. Aos Ay B. [R Aye
C. | ollRk A&e D. |ole A®e
sl B2 2 GlAt3l ol6iR ol U $Rcll HI2 GUAL Al B?
20.
A, | ASY - AR B. |- ollR
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C. | AR D.

olR

USY — AR e slecllR WL oA Al 8.

21. |A. | QR3l e B. | 8sallAR dee

C. |8alde AR D. |A&B

sl B2 wUB2Y2 818 AlA, ¥R Gl Bolye sle WUl Al Sl2L...
22. AR B. |dlle

C. | s - AR D. |dle

3 golye alol Aos A2 oll WG2Y2 &l8 AR AUlA: AB,C,
23 [a [A=1,B=1C=0 5. |A=1B=0,C=1

c |A=0,B=0,C=0 p. |[A=1,B=1C=1

3 getye clowl AR A2 ol UBaYe Al SR AULA: AB,C,
o4 | o [A=0,B=1C=1 5. |A=0,B=1C=1

c |A=0,B=1,C=0 D. |A=0,B=0,C=0

As AUl dUlR Bolye 0 &lal dl sl A2 HL B2y Al uld
25. ollR B. | R

A2 D. | s

TTL oll AURRIL AR d2cll B?
26. |A. |2V B. |2V

c |9V D. |12V

gllR ollR e ol WGy slad wUA?
27. | A. | olul Belye el B. |88 8etye cl

C. |l 8elye sl D. | 88 8elye sl

3 golye cloll Aos A2 oll g 2uct HL 32dl 8aye SIaael slaA B?
28. |A. |3 B. |8

c |12 D. |16

llR A2 of oAt 9 Sl B?
29. |A. |AB B. |A™B

c. | (A+BY D. | (A*B)’

3 golye cloll AR Y2 Ul A=0,B=1,C=1 Belye sl dl wBaye 9 sla?
30. 0 . |01

1 D. |10

4 Boly2 cloll ole A2 oll 2 201 HL 32cdl Aoz sl B?
31. 4 B. |8

c |12 D. |16
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slg dge oll UBaye »UR ,A=0 A B=0 g &a?

32. /A |0 B. |1
c |01 D. |10
2 8otye dlol ollR g2 Hl 4 WAlad 8elye dlal dl, wGaye Ml sl 32dl
AW AA?
33. A. |0 B. |1
c. |2 D. |3
AUsU- ollR e ol UlB2Y2 »UR ,A=0 ol B=0 ¢ &la?
34.|a |1 B. |0
c. |1 p. |10
2 ®olye dloll ollR e Sloll GRAUR B?
35. |A. [ a3l Ra 2R Ase B. |l Ba ole e
C. | Ra s e D. | AsUet (¢
sl A5 As Ase ol UG2Ye 5UN2 slaA B?
36. |A. | AR B. |dlle
c. | e D. |Asd-ollR
11101 + 10111 oll AN 9 SlA?
37 | A [110011 5. | 100001
c. | 110100 D. | 100100
BCD ole1R oll ARalldl $2A: 0011 + 0011
38. | A 0110 g. | 0111
c. | 0011 D. | 1100
JSUBRHA ololR ML GEAL 1100101000110101
39. | A. 121035 B. CA35
c. | 53CAL D. | 3510CA
(35),, SAHA ol6iR oll tlladelR ol0i? KA B?
40 | A, ] 10010 5. | 10011
c. | 100011 D. | 100010
SRHE otelR (1), ol BCD Y 82
41 | A 00000001 5. | 00010000
c. | 00000011 D. | 00010001

42.

AYs A2 oll WL ollof Aol g YU B:

A. | AE AURlel B.

olle WUR et

C. | 510322 wWu23lel D.

R W ULt
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43.

o(lA ol HIl %0 Gelsl BRAA A ddld B?

A.

(A+B)+C=A+(B+C)

B.

A+(B+C)=AB+AC

C

A(B+C)=AB+AC

D

A(BC) = (AB) + C

o(lA ol HIll %0 GelsWL AWRAM2 A olcdld ®?

A+B+C)=(A+B)+C

A+(B+C)=A+(BC)

44, | A B.
c. | A+(BC)=(AB)+C D. |ABC=A+B+C
WSt ol ol g2l HI2 58 R ay Gualol ML Acld B?
45. |A. |17 slGane B. |2° s(ude
c. |9 skude D. |10° s(ade
8Lg AUSR Aol FE A2 cRA ofl Hl2l cAslald Y B?
A |26ls AsR ol GUAL Yl | B. | gt As2 2 B[Be dosct 53 B,
46. $CL ASR.
C. |&lg As2 1 (32 &osct 52 | D. | gt As 33 setye SURER B.
R}
ol2det3] BURet 5A: 1111 — 1100
47. | A |1 g. |11
|10 D. | 100
1’ sade 2l 1011001
48, | A. [ 1011000 5. | 0100110
c. | 1000111 D. | 0100111
oAt wleoi(s A 0 - 1
49. |A. | B%x= 1, dRL= 1 B. [(3%4= 0, tlRl= 0
C. | B%eU= 0, AR= 1 D. |(3%ax= 1, A= 0
WAt 3] ARG Az 1 + 1 + 1
50. |A. [d4 =0, 53l=0 B. |4 =0, 33=1
U =1, 33= 0 D. |AH =1, 33= 1
8 dl 1 HE@WAsUR 1L 3ecll seld cllgset gl B2
51. |A. |1 B. |2
c. |3 D. |4
2’ sladNe W 1001
52 | [1000 5. | 0110
c. | 1111 D. | 0111
53] Altlet Aad dat Wl WA 3l ¥4 82
>3. A | HERWASUR B. | Bu@wAasu

9/11




C. | 5lo2R D. | (3eu- scAlu
53 Aldel BCD HIEll Actel AdNe2 3A 8?

54. | A. | AstslsR B. | H@RWAsUR
c. | (35152 D. | BuEwAasu
YAcRUd A2 dR} v B.

55. | A. | Aot U AR B. |dlg a ollR
C. | AsU-UR U AsU- ollR D. |[olle Aol Aot

1l 16 BHEWAsAR HL decll sal

A ALSet Sl B?

56. |A. |1 B. |2
C. |3 D. |4
WAolR ool AU (FF) 16

57 | [11111111 5. | 11110000
c. | 11110001 D. | 11001100
56 U UM AUl Ylsse B?

58. | A. AB+BC B. (B+C)(C+A)
c. | (A+B)AB D. | As Ut o}
BCD 10011001 & SRHE HL eldlal.

59. | A |10 B. |20
c |99 D. |90
Qoo HL decll e sl .

60. |A. |1 B. |2
c. |3 D. |4
56 2H Ulsse 3llg UU B?

61. | A. XY+YZ B. (X+Y)(Y+2)
c. | X(YZ) . | X(Y+2)+X
BCD 0001 0000 o\ G{lAR Hl HEAL

62. | A 1010 B. 1000
c. | 1110 . | 1100
3SUBRUA ololr Rlren ML decl Bwe da B2

63. | A. |2 B. |8
c. |16 D. |32
(85),, o BCD WEA:

64. | A, | 10000001 5. | 10000101
c. | 01011000 D. | 00011000
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(3 R0t ol USA YlARH UHloldl clld B.

A. | olR Jge e HHes AS B. |3R e ual As — 3R Ay
65. e
C. | ollk e AUal ol B2 D. |ole &2 ual olle AB2
AALON $RA: (14),, + (18),¢
66. |A. | (2D)s B. | (CCs
c. | (2A)s D. | (2C)s
wl2ailR 9ettslR 5 : (1010), * (11),
67. | o [ 11110 5 | 11011
c. | 10001 D. | 10101
11110 o 101 a3 ewdtatedl decl all &?
68. |A. |1 B. |2
c. |3 D. |9
SAUSUBRAHA olteotsl 5 = (FA), — (2F),
69. | A. | (CB)e B. | (COs
c. | (BB)s D. | (CD)is
ol el s20 sls Bed atell?
70. | A, | 1000 5. | 1001
c. | 1011 D, | 0001

*hkkkikkkkikkkikikkikk
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